Name:

Perfect Square Roots

100 =

1-15 (99|98 |97[96/95(94193[92]91[{90|89|88|87|86]|85
16-30(84|83[82|81|80|79|78|77|76|75|74|73|72|71|70

Fill in the blank for each problem.
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Answer Key

Name:

Perfect Square Roots

Fill in the blank for each problem.

[c0) (o]

™

23l

N (o)}

N
I I

: B

10

I I
o
— — N

<] N~

i

58

™

:

o
—

I
ﬁ
o
—

(o)]

N

i

s s

<

N~

5l

N~

©

o
—

1
o
o
—

,m

(o]

Lo

:

Bl e

o
—
N~

(o)
[QV

5

o o8 <

N
1

o < [e0)

N

0 le

N~

m

10

I
ﬁ
o
—

N

:

64

™
I

@

10

V100 =

o
—

1
ﬁ
o
—

M~ (o))

10

(o] Lo

fhlEl R

(o))
—i

1-15 (99|98 |97[96/95(94193[92]91[{90|89|88|87|86]|85
16-30(84|83[82|81|80|79|78|77|76|75|74|73|72|71|70

[ M ath ] www.CommonCoreSheets.com 1



